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1. IIEH 1 HITR AN EreATad=h! 0T Ja1 Teie F787 2

(1) A Seh (2) A faw

(3) TN AIAH (4) g

Which leader is not belong to All India Trade Union Congress ?
(1) N.M. Joshi (2) Lokmanya Tilak
(3) Lala Lajpatrai (4) Mahatma Gandhi

2, ‘Frmuan vgdh wiveh 239 wge e B 2
. §d THHER 9 gl e SfRgEe Saie .
9. e @R Sed Jed 5 e 2.
%, WegwH! e 9 gget=h uga P o
T. Ve AT gumon .
it I
(1) & A (2) FHRAANMNT (3) FRFAME (4) HHE
Which are the two main characteristics of ‘permanent’ settlement ?
a. To transform all landlord and recovery officers into landlords.
b. To deprive the conventional rights on the land.
c.  To fix the structure of the revenue tax collection and recovery system.
d. Toimprove the agricultural techniques.
Answer Options :
(1) Onlya (2) Onlyaandb (3) Onlycandd (4) Onlyd

3. IV FEUHET THATA HHIN HIAHT FRGHT A=ar g ArTedt ?

(1) 3fEE s gl ofwe, 1926 (2) st widw ofz, 1923

(3) sfemm Fach ofwe, 1922 (4) sfem Saed afae, 1911

By which act legal recognition have been given to Indian Labour Organisation ?
(1) Indian Trade Union Act, 1926 (2) Indian Mines Act, 1923

(3) Indian Factory Act, 1922 (4) Indian Factory Act, 1911

4, VR U W= 3.9, 1886 T Foiddl JREAYER L S0 F 7

(1) feRrererer #gan (2) 3reg A

(3) e s (4) N TS _

Who was the President of Indian National Congress in 1886 held in Calcutta ?
(1) Firozshah Mehta (2) Abdul Aziz

(3) Dadabhai Naoroji (4) Badruddin Tayyabji
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5.  ‘gfemd deme g @ wee Sl 9 SeEr T el B 2
(1) ©3M. gm, 1884 (2) crErTd A0S, 1885
(3) wAMrEg Fel, 1884 (4) BN TR, 1885
Who and when established Indian National Union Organisation ?
(1) A.O. Hume, 1884 (2) Dadabhai Naoroji, 1885
(3) W.C. Banerjee, 1884 (4) M.G. Ranade, 1885
6.  WENIRIA HIEeh HEATEA] B HIVen HEAT T1fid e g ?
¥ 9 T . IEHT Niaed At
F. W wH 3. YT |
it I
(1) a9 & v (2) had 3, & 7M1 *
(3) 1,8, % s (4) FHT
Which were the institutions in Maharashtra established for the social welfare ?
a. Bombay Association b. Deccan Prantastha Mandali
¢.  Prarthana Samaj d. Yugantar Samiti
Answer Options:
(1) Onlyaandb (2) Onlya,bande
(8) a,b,candd (4) Onlyd
7.  ciward viferd garoamrdt a1 durh v o e,
o, AAINYS qEH - HEH S
d.  UWG Y% § ~ A TS e
F. aaw - fome T faem vefd fage wsh iR
T wvwafgmfeor - arnash
oot I
(1) SRAAMME (2) FHRANIS (3) HFAH (4) wHa S
Which of the following ‘Sangha’ was established by whom for upliftment of Dalit’ ?
a. Satyashodhak Samaj - Mahatma Phule
b. Indian Servant Sangha - Hon. Gopalkrishna Gokhale
¢.  Dalit Sangh - Depressed Class Mission Maharshi Vitthal
Ramji Shinde
d. Social Service League - N.M. Joshi
Answer Options :
(1) Onlyaande (2) Onlybandd (3) Onlyc (4) Onlyd
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HRerd fediaien Yoo auwoiten &1 ¥q gl

A, ra e arseeea onfE, g a weRll fEadey w9ar.
q. ol SeEEqs HO 9 u i wo

F.  WRdAId 30l WITE SHEEsEl @Y P,

3. NN Wisad i &

gt I

(1) %I A (2) FFH (8) S ® (4) TR A AT

Which was the aim of the Britishers to establish the Railway in India ?

a. To conserve the Britishers imperialist’s economical, political and military
co-relations.

b. To internal supply and export the goods.
¢.  To fulfil the expenditure of British Government in India.

d. To make a capital for trade and business.

Answer Options :
(1) Onlya (2) Onlyb (3) Onlyec (4) Onlyaandb

9. Tasdier Froft e gifede mifd sfegs Fivgr arcdt et i siTE stifaeem &
TYEAT T95 Feit ?
(1) 1876 (2) 1880
(3) 1881 {(4) 1885

When did the mill owners in Mumbai establish the Bombay Mill Owners Association
after realising the seriousness of the situation ?

(1) 1876 {2) 1880
(3) 1881 (4) 1885

10. afer Ageam 3w e
(1) g WEnrs (2) i sreEwt
(8) WU W (4) foger i
‘Dinmitra’ was started by
(1) Shahu Maharaj (2) Dr. Ambedkar
(3) Mukundrao Patil (4) Vitthal Shinde
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TrRiEd wi faam g o 2

(1) ufegear Aafm o awrE digon 24 SR, 1946 TS s Bidl.

(2) 23, 1946 TS Jg&=an AqearaTelt daim quwr=n wudfadt s

(8) 26 @ISR, 1946 U Fogdd Il Yl fien 2Aain girmas A0,

(4) wfauE @i 9 feder, 1946 Vol Aeeican wideal dadhien QEeid =in g Fogdt.

Which one of the following statements is not correct ?

{1) The first Interim national government was announced on August 24, 1946.

(2) On October 2, 1946 the Interim Government headed by Nehru was sworn in.

(3) On October 26, 1946 Wavell brought the Muslim League into the Interim
Government.

(4) The Muslim League did not attend the first meeting of the Constituent
Assembly on December 9, 1946.

12.

Y Gfqum T3S gend eahea STEAER 216 HIv B 2

(1) =l f.am. e (2) w@R 9eH

(3) wATEETS T (4) . yaEh

Who headed the fundamental rights sub committee in the Constituent Assembly of
India ?

(1) Dr. B.R. Ambedkar (2) Sardar Patel

(3) Jawaharlal Nehru : (4) J.B. Kripalani

13.

arcfta fau faamma wn -

e e 1 o {1 oo e B e o s

T, uififes eTHedTs T8 VIt SequeT® SMiATEl TSIl =8 — 20 9=
Y TR,

., WIHT o B IS SINAT ERETETS] ATGeH 0 JraTEl GHTEY Bl

€. MY I Fd AR ST IEHA 30 B e Tatdl SR, 1951 HTER W ST g
ATé.

TR Hordt fora ST o 2
(1) %o &, 9 3 & (2) wFaE, F AMS
(3) wd A, ¥ M g (4) &Fd A, & M

Consider the following statements :

a. The term ‘minocrity’ has been defined in the Constitution of India.

b.  Article — 29 grants protection to both religious minorities as well as linguistic
minorities,

c.  Right to conserve the language includes the right to agitate for the protection of
the language.

d. The political promises made for the conservation of the language does not
amount to corrupt practice under the Representation of the People Act, 1951.

Which of the above statements are true ?

(1) Onlya,bandec (2) Onlyb,candd

(3) Onlya,bandd {4) Onlya,candd
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14, R GEen UsagEde sEia S wEg wuaaEt 389 W R aea ast faed @ueen

et e ?
(1) fpea @& Ty (2) 2 fran afos Ty
(3) areatvEn S TSy (4) 2/3Ts9

If the parliament want to make a centres law on a matter fall in State List, how
many states have to make request to parliament ?

(1} Mintmum one state (2) Two or more states
(3) More than half states (4) 2/3 states

TP e ——

15, WIS e FEUST g7 Fied A6 SES Hal 98 ?
(1) Tes-fHEgR $98
(2) At favas a9
(8) Tehe Hiciel a1 FoR Sl deamy y&y
(4) AT oS AT

One can file the public interest litigation regarding which one of the following ?
(1) Landlord-Tenant cases

(2) Cases regarding service matter

(3) Admission to Medical College and other educational institutes

(4) None of these

16. TR A fEAEEA | A ?
A, WRAR Toweas 3w — 15 % Wity Jmfes anfor o s1am SriTel 3Ucey AR,
. O TSUHeIS SIS - 16 % ¥ wd I 3T 7R,
F. WG TouEeTs Aedg — 21 8 Widty AT il wwehlain St Wi et Sqerey
IR,
qafh Im ;

(1) %o A (2) FEa s AN F (3) I 5 (4) ¥, 8 ATH

Which of the following statements is/are correct ?

a. Article - 15 of the Constitution of India is available to both citizens of India
and the foreigners.

b.  Article - 16 of the Constitution of [ndia is available to the citizens of India only.

c. Article — 21 of the Constitution of India is available to both citizens of India
and the foreigners alike within the territory of India.

(1) Onlya (2) Onlybandc (3) Onlye (4) a,bandc

Feeq! HHTITS! TN | SPACE FOR ROUGH WORK ‘ P.T.O.
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17.  OSAT=AT SMITRAT ARIEEE draTete Wit i wrsrehn ars geseft .
A “_ cin B denfies e am” 1L SieW eRA

2, “anfifs aarie waEag” 1. @\ 1a

%, ‘omfas wrE 9F @ e @ 1L %W, e

T Y qnETen sacTe T V. dedm ifed
T [quiaes qa@ar”

il I
x q * z

(1) II 111 v I

(2) I 11 111 AY

(3) 1I v I II

4y Iv I 11 1

Match the comments and commentators on ‘Directive Principles of State Policy’.
a. “____ they have at least educative = 1. Allen Gledhill
values.”
b. “Socialism in the economic sphere.” II.  B.N. Rau
¢. “Aimed at furthering the goals of the III. K.M. Panikkar
social revolution
d “ __the affirmative instructions V. Granville Austin

to the Government to de certain

things
Answer Options :

a b c d
(1) 1I III v 1
(2) 1 II 301 v
(3) HUI v I I
4 IV I I 1Tl

el HTHIHEIE! ST / SPACE FOR ROUGH WORK
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18. Weid faum Rmma e

A, Uy ToTueA FasTHet Tl i vgdi=n feR e oTR.

3. Ewds gre s E9saH gt Tftea dgdtEn feawr e am.

ot I3
(1) fam a1, 9% (2) foum =1 9%, 9 s
(3) <l faum se @) TR foad 5=

Consider the following statements :
a. The Constitution of India, like that of Canada, has adopted the system of single

citizenship. :

b. The other federal state like Switzerland, adopted the system of double
citizenship.

Answer Options :

(1) Statement a is correct, b is false (2) Statement a is false, b is correct
(3) Both the statements are correct (4) Both the statements are false

19. HERIS {roy faevm s« st faur geg smga 2
. FAENTE T 1995 T @i,
4. I gauTe STUR 7.
%. I ey T aed=m Ragum w3

g, AETRAT YN THE TSAUT HA.

Tarft Iw ¢
(1) %I q, F AMNE (2) %aq I, q AT FH
(3) wag A, q i s (4) %&d 3, % AN T

Which of the following statements about the Maharashtra State Election
Commission are correct ?

a It was established in 1995.
b. It has a constitutional basis.
c¢. It conducts elections to local bodies.

d. The State Election Commissioner is appointed by the Governor.

Answer Options :
(1) Onlyb,candd (2) Onlya,bandc
(3) Onlya,bandd (4) Onlya,candd

FHoeq] HHITE! SR / SPACE FOR ROUGH WORK P.T.O.
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20,  TICEH SV Aleflal HECTIT “HIEAN FEHAT HRATGER! 01 I Eid 2

A, TREE

q.  USIT=A1 YRS ARiGEeh dw

®. HdeR g9/ e

S TENd &

i anfead &A= weER

it I

(1) A,9,%

2 #,%,3

3 %,%3

(4) #A,9,%,3

Which of the following matters on which amendment is possible only by the ‘simple

majority’ of the Parliament ?

a. Citizenship

b. Directive principles of State Policy
c.  Delimitation of constituencies

d. Fundamental Rights

e. Administration of tribal areas
Answer Options :

(1) abe

(2) a,ce

3) b,d, e

(4) a,bycd

o] HETRIS! SN / SPACE FOR ROUGH WORK
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21, 74 =1 9EAgEE HeHid @i fear feemud e
9. TR FiEd o a8 AR Wi wEee T O aetea 3 g FasuEh
T AT,
el R FURA HEYS TR/ ?
(1) Z3nfrs (2) Ha A (3) BRI T (4) VIR ATE
According to 74t amendent consider the following statements :
a. Nagar Panchayat can he established for areas in transition from a rural area to
urban area. _
b. Fixed tenure of five years for the municipality and re-election within one year
at the of end of the tenure.
Which of the statements given above is/are incorrect ?
(1) aandb (2) Onlya (3) QOnlyb (4) None of these
22, Tormfafid g anfds R oF 3w sma. =
(1) 3= wfirrar v eTeh (2) F= TrfirRar v el ATE
(3) WUW T AT STET (4) aledh Twd T
Employment generation was one of the objectives of economic planning. It was
(1) Accorded a high priority (2) Never accorded a high priority
(3) Given prime status (4) None of the above
23. @ faue femme o

. widi Frdem & e s frie o,
T wwdE e g Wik feiem am.
%.  widE Friem g o feem om.
Flieeh o/ fam/A st amd/aga 2

1) TRAAMTET (2 FTRIAVF (3) TR AT (4) FHoad

Consider the following statements :

a. Indian planning is indicative economic planning.

b. Indian planning is physical planning.

¢. Indian planning is financial planning.

Which of the statement/s given above is/are correct ?

(1) Onlyaandb (2) Onlybande (3) Onlyaandc (4) All of the above

Foedl BT RN | SPACE FOR ROUGH WORK PT.O.
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24, §3 2009-10 vfid U AT weefl (NSS) = 66 = HgER amrg fordt St
(TrEria) e aeE i W @Telieieht Sive) UsETd ST g (2 gIHt) |

Fuft Higfaen fem 2

A, TE T TEH

E R g TETS

vt I |
(1) wad A (2) HFH (3) TFAH MM E (4) Haad

According to usual status unemployment (adjusted) as per the NSS 66th — Round
2009-10, in which of the following state/states is the unemployment rate (per 1000)
shown lowest in rural areas ?

a. Gujarat b. Rajasthan

c¢.  Madhya Pradesh d. Maharashtra

Answer Options :

(1) Onlya (2) Onlyb (3) Onlycandd (4) Onlyd

25. W faum foEa

FTfiga Wat s,

. el T g Ad Wi o SRt onfor aiftgE W et iEEa /st
wury oot ST,

%, T AV Ied Qiiga W Gl dEW i @Rt Sdea o SEae e gia
feeht sma.

Fereht Bivr/d /S Fhe TR/aTRA 2

(1) SFANMUT (2) SIS F (3) s A AT F (4) e ad

Consider the following statements :

a. Integrated rural development programme aims at raising families above the
poverty line by creating sustainable opportunities of self employment.

b. In Jawahar Gram Samridhi Yojana preference is being given to SC/ST families
below the poverty line and physically challenged persons.

¢. Ganga Kalyan Yojana provides irrigation facilities through groundwater
sources to small and marginal farmers below the poverty line.

Which of the statement/s given above is/are correct ?
(1) Onlyaandb (2) Onlybande (3) Onlyaande (4) Allofthe above

e PHTHTATS! STRT / SPACE FOR ROUGH WORK
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26. 7331 WEAGE A Heid WIcherdehl wivid faum/faume seve sm/anga 2
. ung AR 1993 g yfivr frneiar 73 = geargeEdtan fofa G
q. 73 S YIAIGERIET YuEd! I el <A1 wateewia 19 RvaygesiEn gaEy s
T
et I
(1) %% 3 (2) FAsTscrR (3) SIS (4) TeH Tl A

In the reference of 73™ constitutional amendment which of the following statement/s

is/are incorrect ?

a. In 1993 Government of India took the decision about 73™ constitutional
amendment for rural development.

b. 73 constitutional amendment added 19 more subJectsfcontents in the
functions of Panchayati Raj.

Answer Options:

(1) Onlya (2) Bothaandb (3) Onlyb (4) None of the above

27, QeiE Sy o ;

Tz 3 w7

A, FSHIHT IR GE Fen 1. 3fsd=, 2005
¥, 0T HEed 200 S9TE Sd Y qgeTd SUEEET geatd II 23 gWeL, 2013
F. A e St e geam et III. 2 %gard, 2006
3.  TFAEEd 1gE UK WED Javiie e geara s IV. 394, 2011
ot I

AH C] * )
(1) 1 I IT1 1A%
(2 IV I11 II I
8) III 1 I v
4) 1I 1AY 111 I
Match the following :

Group A Group B
a. Aajeevika formally launched I. 3" December, 2005
b. MGNREGA initial implementation in selected 200 1L 23" September, 2013
most backend districts
¢. National urban livelihood mission launched ITI. 274 February, 2006
d. Jawaharlal Nehru National Urban Iv. 3™ June, 2011
Renewal Mission launched

Answer Options:

a b c d
1 1 I III v
2) IV II1 II I
(3) I I I IV
4 1I v 111 1

e HETHTS AT | SPACE FOR ROUGH WORK P. 1.0
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28. USEIES G191 IR HOATHEN B 9 ST GHET TE,
o, Aifg smam

4. N HfiEe

%, UM faww qiwe

gt Iw

(1) ®F A 2 =oenfusg
(3) A I F (4) ol et

Agencies involved in five year plan formulations are :
a. Niti Aayog '

b.  Union Cabinet

¢. National Development Council

Answer Options :
(1) Onlya (2) aandb
(3) aandec (4) All the three above

29. @AW fFR yenE YAt Froem BaieR 9 = GEE dee sfta FRRe Fea wEg
A Ideiarta W feer & ?
I GRS
9. HdHY W ga
F.  HEAAF foqor e gyEiem

5. mafs e el

it I | ;
(1) et = (2) ¥ anfir=s
(3) &, 9w 4) e ard

The time bound ambitions social objectives indicated under St five year plan
emphasized which of the following Basic Minimum Services ?

a. Safe drinking water

b Tel;tiary health service

c¢.  Streamlining public distribution system

d. Universalisation of secondary education

Answer Options:

(1) aandb (2) bandec
(3) a,bande (4) All the four above

FET HTATS! SN / SPACE FOR ROUGH WORK
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30. amfor e wieh gfawm g (PURA) sfmmms wireoht faramE duard et
ogdt.
(1 o= (2) fefiest (3) nfd=w (4) @S
_____ connectivity was not considered in PURA Model.
(1) Physical (2) Digital (3) Economic (4) Social

31. WA FQ W AN g femm dfrsrd ansa 2
3. OEREHE Wl Taavs

¥, TREET SHEA
. Hfwae sRd
Tl IW

(1) % & (2) % A (8) o ¥ M (4) AR T A=
Which of the following explains the feature/s of infrastructural development of
India ?

a. Heavyinvestment by the government

b. Bias in favour of the poor

¢.  Bias in favour of the rich
Answer Options:
{1) Onlyec (2) Onmnlya {3) Onlyaandc (4) None of the above

32. UNdN dRgH e @reia faum fosma =
¥, andly W& WS 17 SEmed fayea g,
9. Uq IRAR FEHAE Gedw 2016 HEY e
%, diod TENEYU EdarEgs A0 HEWE WA sl Fee SEreel ST
AT 2012 T S,
T. YRAW 12 W@ gt 37T,

i Fo faym e 2 mea ?
(1) % 3, 9 A & (2) W d, F HMTE
(3) W 3, T AT 3 (4) HFd A, F A

Consider the following statements regarding Indian Transport :

a. The Indian Railway Network is divided into 17 zones.

b. The Setu Bharatam programme was launched in 2018,

c¢. 'The Ministry of shipping was formed in 2012 by bifurcating the erstwhile
ministry of shipping road transport and highways.

d. India has 12 major ports.

Which of the statements given above are correct ?

{1) Onlya,bandec (2) Onlyb,candd

(3) Onlya,bandd (4) Onlya,candd

Tl BFTATA! ST / SPACE FOR ROUGH WORK P.T.O.
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33.

16 A

NHDP =1 984 35 coi= g sigoqiit e, PMGSY 1 d@9y omivr T Syt a1mg @
PMBJP = Gsy #ft o1,

(1) TSI Hg@r! "o

(2) St I

(3) el "R gEEwS e

(4) T wEEr T TR e

NHDP deals with building high quality highways, PMGSY deals with rural roads
and PMBJP deals with

(1) Construction of state highways

(2) Generic medicine

(3) Liking up highways to rural roads

(4) Linking up state highways to national highways

34.

wrefter favme T o

A T ww T A i S o s enfor armpE givemdia awEa 2 g
HiefauamaT! IR e,

%, @ T 200 AU freRE envereh g,

%, U an o A & are ol anfh yewren YR qerhrETdl SR 3.
ThATH FHor fqum st s ?

(1) e 3 i § (2) wad = o %

(3) WG A AU F (4) <0 @

Consider the following statements :

a. Rashtriya Sam Vikas Yojana was introduced to address the problems of low
agricultural productivity and gaps in infrastructure.

b.  The scheme covered 200 backward districts.

¢. Rashtriya Sam Vikas Yojana to support the development initiatives in
backward states and regions.

Which of the statements given above are correct ? |
{1) Onlyaandb (2) Onlybandc
(3) Onlyaandc (4) All of the above

e BTG ST | SPACE FOR ROUGH WORK
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weie faum famma =

H. AR TEE U Wzl guton Aftme 3 fedst, 2005 9 gE e,

¥, fieEn 3R weude qEn daiea wwe R W ¥ TR,

F. W IGHNATIT U SRS TEAWE g @l Aefieria itk giewm snftr ques e
it T faum st 3med ?

(1) w¥a f Afr &% _ (2) W A I

(8) waa§ e % (4) e fo=dt

Consider the following statements :

a. Jawaharlal Nehru national urban renewal mission has been launched on
grd December, 2005.

b.  The objective is to focus attention on integrated development of infrastructural
services in the cities covered under the mission.

c.  Under this mission eligible sectors include : Parking lots on PPP basis and
development of heritage areas.

Which of the statements given above are correct ?
(1) Onlyaandc (2) Onlyaandb
{3) Onlybande (4) All the three mentioned above

36.

Treite faum feremaa = ¢
¥, siflge W mwRETiS Suare TgeE {aw e g TR,
8. sifigel URd MEHEEMIA 33 Wi qedl st Fiid el o,

¥ AT VTS ST A& UgA e 991 Bies THRudie e Rty sTeRrerEt
& U T .

afieTiehl v ferem U= 31Ed 2
(1) S¥d A anfor & (2) I I AM*
(3) wad g AT F (4) 0w wd

Consider the following statements :
a. All India Radio’s motto is ‘Bahujan Hitaya : Bahujan Sukhaya’.
b. AIR originates programming in 33 languages.

c. It is one of the largest broadcasting organisations in the world in terms of the
number of languages of broadcast.

Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlyaandc
(3) Onlybandc (4) All of the above

Froe] SIS} ST / SPACE FOR ROUGH WORK P.T.O.
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37. el fouw o =
A, TN S W 2002 AR WiE fawed arefet 9w w i e,
§. ST HEHrTet 8 SR T Ut 37T 37,
F. oo gaEEr Inpame faeE, faew e srawemm @ walned @renft gmrean

TEATIEN &1 SRonata S 29 o,
e o faum ste Iz ?
(1) waa A a1 = (2) waa 9 AT F
(8) wad 31 3T % (4) ford fqum st smea

Consider the following statements :
a. National water policy 2002 lays greater emphasis on environmental concerns.
b. It stresses the involvement and participation of beneficiaries.

c. It encourages private sector participation in the planning, development and
management of water resource projects.

Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandc
(3) Onlyaandc (4)  All the three are correct statements

38, welle four fa=mua = -
3. 1982 WA TF UM YOI I EvH iaeand e,
9. greud ale uigen wriFe $iY goF g
F.  26W, 2015 Tsht gawad it 7z WG T fE. fFam 71 SeiiedtaT 39a g Fn

e wvE faue <=t amzd ?
(1) %ad H T 5 (2) wad o U1 &%
(3) wFd A AT & (4) 909 wd

Consider the following statements :
a. In 1982, Doordarshan as a National Broadcaster came into existence.
b.  Krishi Darshan was the first programme telecast on Doordarshan.

¢. Prime Minister Shri Narendra Modi launched a television channel DD Kisan
on 26 May, 2015.

Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandec
{(3) Onlyaandc (4)  All of the above

Tl HIHTITS! AT / SPACE FOR ROUGH WORK
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39. @ faamd famme =

. 2005 TR WG G ‘A Frafor amemer weg wEEn gE .
3. v ffn s 3R mfv smme genm gfa 3o anfr weht o gl 3w

T EM.

H. 2005 - 061 2008 — 09 1 FHra@EHE wRa Fmfor wrisma=ar yfgcar o smerseTantt
Feft gt

FhAdE) For faam s 3med ?

(1) W& 31 i g
(2) wag afn ®
(3) W A I F
(4) ot wd

Consider the following statements :

a. The Government of India launched a time bound programme namely ‘Bharat

Nirman’ in 2005,

b. The objectives of Bharat Nirman programme the are to build urban

infrastructure and provide basic amenities in rural areas.

c. Phase I of the Bharat Nirman programme was implemented in the period
2005 — 06 to 2008 ~ 09.

Which of the statements given above are correct ?
{1) Onlyaandb
(2) Onlybandc
(3) Onlyaandc

(4) All of the above
Wmm ! SPACE FOR ROUGH WORK PT.O.
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40. St e faves aF after i & weET oY i 9 e el

3 (77 FIHAIT) 7 (&T9T T)
W, WA FHA wagor afudt I. 1983
¥, 399 9RO g M. 1979
& o Y R s I 1974
. S [YIH HeaTR HEe IV. 1965
ol I

HA L & s
(1 I II III v
(2) III I v 1
(3) IV 111 I I

I I

4) 1I v

Match the following pairs regarding expert bodies on energy planning and their year

of establishment,

A (Expert Committees) B (Estd. year)
a. Energy Survey of India Committee I 1983
b.  Fuel Policy Committee II. 1979
¢.  Working Group on Energy Policy III. 1974
d. Advisory Board on Energy IV. 1965
Answer Options :

a b c d
(1) 1 II 111 v
(2) III I v 11
3 IV I1I I I
4) 1I Y I II1

FTEqT STHINTS! AT / SPACE FOR ROUGH WORK
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21

o F a1 FO1 FoEnE gt Fioren wfd el 7

1 = el @ (2) orweE T

(3) gI. . TRH (4) €. foom Faw

Which of the following committee recommended Goods and Services Tax ?

(1) Dr. Y.V, Reddy (2) Asimdas Gupta
(3) Dr. C. Rangrajan (4) Dr. Vijay Kelkar

C12

42,

Sfereh SR dueAE gt B K Hefvg I ?

¥, o 9 ANTEEHE TgIet FR (MAT)

g, HE G FHAERN FH (GATS)

%, difgH HugEEHE SUR F R (TRIPS)

3. WdiferEe deHrl L (WTO Agreement on Agriculture)
ogie I

(1) waa 31 3o 9 (2) %F & M08
(3) A, T F (4) e wd
Which of the following agreements is related to World Trade Organisation ?
a.  Multilateral Agreements on Trade and Goods

b.  General Agreement on Trade in Services

¢. Trade Related Aspects of Intellectual Property Rights

d. WTO Agreement on Agriculture

Answer Options :

(1) Onlyaandb (2) Onlycandd
(3) Onlya,bandc (4) All of the above

43.

Wil Hiv/dt faum/A siet R/ 2

3. SRR SR HESRT FET 1 S, 1995 U Foard et

9. rifees SR weA TEed s e Shfser 39 o,

gt 3w

(1) wFa A ‘ (2) wad o

(3) i 9 AR (4) AR T TR
Which of the following is/are correct statement/s ?

a. World Trade Organisation was established on 1% January, 1995.

b. The headquarter of World Trade Organisation is at Geneva, Switzerland.

Answer Options :
(1) Onlya (2) Onlyb
(3) Bothaandb ' (4) None of the above

HoegT FETATS AT / SPACE FOR ROUGH WORK

P.T.O.
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44, Gl SV ARG H=NR F97 (WTO) FH 3R ?

(1) uaiham. 2) fem

(3) fem 4) 9w

Which of the following is WTO agreement ?

(1) AOI (2) TRICs

(3) TRIMs (4) All of the above

45,  dF e droren T Gerat géerdehi wivan Yfaga afem g ?

A, T e

q. fohua e

% fafaar

T SEOYE YA 6y

gt I ;

(1) %oa A Jfr & (2) W ® AT
(3) a3 anfor & (4) W%ad 9 MO T

Which of the following is/are unfavourable effect on agriculture of New Economic
Policy ?
a. Reasonable Price
b.  Price Instability
¢. Increasein Export
. Entry of Multi-National Corporations
Answer Options :

(1) Onlyaandb (2) Onlycandd
(3) Onlyaandc (4) Onlybandd

46. T T T FO (GST) Hafeq Tegeed Fod ?
(1) 9sdl wETgER | (2) 994 TeATgEH
(3) 100t HeATgER (4) 1014t weATgeEdt
Which of the Constitutional Amendment is related to Goods and Services Tax ?
(1) 98! Constitutional Amendment (2) 99 Constitutional Amendment

(3) 100t Constitutional Amendment (4) 1018 Constitutional Amendment

T FTHTAIS AT / SPACE FOR ROUGH WORK
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47, SAFERAATST gy - qhelsh wuE gHEy St ?

. IFEGEI AGR 9. awge

%, fm 3. A9 39

Tt S .

(1) o0 &, & P & (2) wua A, Hafrs

(3) wad 49, F M€ 4) =@ wE

Which of the following are included in the invisible Import-Export of Balance of
Payments ?

a. Trade of Goods b. Transportation

c. Insurance d. Investment Income

Answer Options :
(1} Onlya,bandc (2) Onlya,candd
(3) Onlyb,candd (4) All of the above

48. 1990 — 91 d 2008 — 09 T FHIBTW WA AR AT ygeht Fh &eft ?

(1) wedl (2) e

(3) far (4) afath wwd T

What was the trend of balance of deficit of India during 1990 — 91 to 2008 — 09 ?
(1) Declining (2) Increasing

(3) Stable (4) None of the above

49. M da=ar genta A faum fae.
A, wrifae St AT 1944 A Hiwt.

¥, il dd B 94, 1946 A GE 7.

Whﬂ'?ﬁﬁ:
(1) S A (2) wF«
(3) u a7fer 9 2= (4) bl uHal T

Select the correct statement in the context of the World Bank

a. World Bank was established in 1944.

b. World Bank started functioning from June, 1946.

Answer Options :

(1) Onlya (2) Onlyb

(3) Bothaandb (4) None of the above

FEEqT SIS ST / SPACE FOR ROUGH WORK P.T.O.
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50, ST MK G0 UF AR R0 S ), Sumed saan anfor afteifies divor arEmes
(1) <3t Ao Ieren e fageht At IeaTed AW S hert ST, -
(2) 2uft Hrer Ieared anfor fadsft WA Ieuned A He e Id AL
(3) =R nfir IUTET ol SR WieETE 2Et SR SiET HEA.
(4) SlwvH TR A

An outward oriented trade strategy is one in which trade and industrial
policies
(1) Discriminate between production for the domestic goods and foreign goods.

(2) Do not discriminate between production for the domestic goods and foreign
goods.
(3) Trade and industrial incentives are in favour of domestic market.

(4) None of the above

51. w@refie faum faama wn
. RO A i A wyEa o fasy s e,
¥, e et A R 200 39 avEg o,
®. ST Ao Al FaTE T A saERT e (BOP) et fe 3.

FhHTH Hva fqum S0 3ga ?

aatdt I ;

(1) %o 3t anfo & (2) wad g AN F
(3) wad oF oMY F (4) b wd

Consider the following statements :

a. The international Monetary Fund is a Specialized institution of the United
Nations.

b.  The IMF Currently has 200 members countries.

¢. The IMF provide funds to a member country experiencing temporary Balance
of Payment (BOP) deficits.

Which of the statements given above are correct ?

Answer Options :
(1) Onlyaandb (2) Onlybandec
(3) Onlyaandc (4) All of the above

FoedT HMTAIGT ST / SPACE FOR ROUGH WORK
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52. TSIl v HAlgR WA 9wEhig Wigad 39 ?
o, opmqm
. 9EhE ®a
%.  qEhY daUH
ot I :
(1) aq 37 a7fo § (2) e 31 o1 ®
(3) e & Infr % (4) i wd
From which of the following sources, Foreign Capital comes in India ?
a. Donations
b.  Foreign Loans
¢. Foreign Investment

Answer Options :
(1) Onlyaandb (2) Onlyaandec
(3) Onlybande (4) All of the above

53, W refeuas=aT Hiviear AT 2011 - 129 2013 - 14 I Faa Geanidia e fasfh

Taqu Hata afe gt 7
(1) FYHm (2) dar &3
(3) T BiwasR (4) Fat

Which sector of Indian economy has attracted highest FDI equity during
2011 -12t02013~147

(1) Construction (2) Service Sector

(3) Computer Software (4) Power

54. SAINAI HeheuueNTa 4 faum e
3. IgHe sAErenTed e srarden Praffs o sy s,

9. e sammEeme) Furen FHatdita ARy s .

W‘Hﬁﬁﬂ:
(1) waa A (2) T
(@) 31 sy 9 A= 4) T Hh T

Identify the correct statement in the context of Balance of Trade.

a. In Favourable Balance of Trade, the ratio of export is higher than the ratio of
import of a country.

b. In Unfavourable Balance of Trade, the ratio of import is higher than the ratio

of export of a country.
Answer Options :
(1) Onlya {2) Onlyb
(3) Bothaandb (4) None of the above

FERGT FETHIS ST / SPACE FOR ROUGH WORK P.T.O.
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55. 1992 3 2013 47 HSW Nrard It dz faewft Yoav @ we a9 faRef qaevEen

it
(1) = 2 s
3) fem (4) e T T
FDI inflow of India was than FDI outflow during 1992 to 2013.
(1) Declining (2) Greater
(3) Stable {4) None of the above

56.  geicdeh Iy faum faer,
3. =nr o= it frden daroes o s @9 2015 § 2020 e few R ao

STER A,

a. Tt deamg@dt ‘Make in India’, ‘Digital India’, ‘Skill India’ IME X <, & a1
YRS YYE 3 AR,

qaidt IW

(1) wad 3 (2) wad @

(3) o anfn & G (4) TR wwdt T

Identify the correct statement from the following.

a. Commerce Minister Mrs. Nirmala Sitharaman announced the Foreign Trade
Policy of India for the period of 2015 to 2020,

b. The main objective of this policy is to focus on ‘Make in India’, ‘Digital India’,
‘Skill India’ for export promotion.

Answer Options :
(1) Onlya (2) Onlyb
(3) Bothaandb (4) None of the above

57. srawrsda At fdfieh wimee gderdsht Sioen sewn S s 2
3. fafwe o fotr vewed me s,
F. HEISN SATIRE 9 HO.

Tt I .

(1) wag A g (2) % g &

(3) W A M & (4) =l wd

For which of the following objectives was the International Monetary Fund
established ?

a. To reduce prevailing exchange controls.

b. To attempt for stability in exchange rates.

¢. Toreduce multilateral trade.

Answer Options :

(1) Onlyaandb (2) Onlybandc
{3) Onlyaandc {4) All of the above

PEET PIHTATS! ST / SPACE FOR ROUGH WORK
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58. UHN AR €11 2009 — 14 wafid wrefie faum fsmma o -
3. Wﬂrﬁmﬁ dreisTelid g Sfde ¥ 2020 W WRaET IRk SRRE e g
4. T N GRH 50 T SIRYSTET JHEY T8 Spid S9RYS deid <l
%, T T i temea A feder 2012 o3 s e
Fhetdt wive fage sw 2 ?
watdt 3=
(1) w& A s §
(2) wE A AU F
(3) wFA T AN F
(4) T0awd
Consider the following statements regarding Foreign Trade Policy 2009 — 14 :

a. The long-term policy objectives for the government is to double India’s share in
global trade by 2020.

b. Foreign Trade Policy has added 50 new markets to the focus Market Scheme.

c. Government has announced incremental export incentivisation scheme on
December 2012.

Which of the statements given above are correct ?
Answer Options ;

(1) Onlyaandb

(2) Onlyaandc

(3) Onlybandc

{4) All of the above

59. Wil Hiorl W HNYF [OPEC] A1 HueA= queg 7787 7
(1)  rEmfEaA
(2) st ‘
(3) ¥
(4) TG Atfe
Which of the following country is not the member of OPEC organisation ?
(1) Afghanistan
(2) Indonesia
(3) Iran
(4) Saudi Arabia

HTEg] HITETS! WATT / SPACE FOR ROUGH WORK P.T.O.
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60. T4 THRS W@ FH Agg G Hiort ?
(1) aifisa = afy S e
(2) ¥ ook M0 Al G
(3) W iy el wErfeliel TSy I Yo
(4) ofa wd
What are principle sources of tax revenue of the State Government ?
(1) Cdmmercial taxes and land revenue
(2) Stamp duties and registration fees

(3) State excise duties on alchohol and other narcotics
{4) All-of the above

6l. TR ITF HUH THR HIvE/d AR/ 79 ABET

W, e I §.  HUH W

F. UEMES T 3. SN W
ot I

(1) %aa A anfe & (2) wF wanfr g
(3) W & ' (4) SaT A M H

Identify, which of the following is/are the types of Income Tax ?

a.  Personal Income Tax b. Wealth Tax
¢.  Corporation Tax d. Interest Tax
Answer Options :

(1) Onlyaandb (2) Onlycandd
(3) Unlya (4) Onlyaandec

62. 1991 T F GUWUN WG TETET BT BId ?

(1) =, e (2 #R fo5m e

3) ot wF. (4) . w. TifaguE
Who was the Chairman of Tax Reform Committee 1991 ?

(1) Raja J. Chelliah (2) Shri Vijay Kelkar
(3) ShriL.K. Jha (4) Shri M. Govindrao

FHoegT HHTATS! AT / SPACE FOR ROUGH WORK



A 29 C12
83. % TR q TEEHUSY USR] Fooaaglia a9+ HINHEd Fel b ?

(1) YA Ya9uH (2) FHT rdaEe
(3) figed 9% 3w sfea (4) wHg

From whom the management of Public Debt of Union Government and State
Governments is done ?

(1) Prime Minister of India (2) Union Finance Ministry
(3) Reserve Bank of India (4) The Parliament

64. AU wEIE JEieehl FEAET FHEN Bl ?

. HIHERY Hal q.  HiE 9 qHfEE d4

%. ofiE I T W Ed

oot I ;

(1) w&a A v« (2) wE A AT H

(8) Waa A, @ 3T g (4) ®Fd A, § AN ®
Which of the following are Included in Civil Expenditure ?

a.  General Services b.  Social and Community Services
c¢.  Economic Services ' d. Expenditure on Defence
Answer Options :

(1) Onlyaandb (2) Onlyaandc

(3) Onlya bandd (4) Onlya bandc

65,  HUEN Wbl IgHal HEE TEAEF e THelt J@ 2
(1) &g, UY HM1 Frasiten Iqpu=l Iaqam
@) g, 75T Ffor e genr Igaadl
3) g anfir o5y grREE IwAard
(4) ot g9 WhRH! Igad
What type of borrowings are considered as Public debt in India ?
(1) Central, State and borrowings of public enterprise
(2) Central, State and Local Government borrowings

(3) Central and State Government borrowings
(4) All above borrowings

FET SRS ST [ SPACE FOR ROUGH WORK | P.T.O.
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66. 1991 e T Yvam e e guwen ahRme yun anfies wafadiat a1
HAGA B

(1) {(=FTETF R
(2) Tmfs-sufdw g
(3) SAIHEYTH HReTE (&
(4) T faEm [T

The process undertaken in 1991 of economic reforms consists macroeconomic
stabilization and _ o
(1) Structural reforms

(2) Socio-economic restructure

(3) Adoption of pro-business policies

(4) Human development restructure

67. Tt shmAm srewsim A et anfr s S A AR
el

(1) wrEw &7 gret aaandl @ &
(2) ¥ FeEh qoavERen e

(8) wrem wwrvma Fidien Srara

(4) € nfor TS wHESA

LPG Model has followed the IMF-World Bank preseription of
(1) Opening of public sector to private sector

(2) Facilitation to direct foreign investment

(3) Encourage to more export

{4) Stabilisation and structural adjustment

Froel] FETATEY AT  SPAGE FOR ROUGH WORK
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68. I Sign f=e.

FicTT 37 FITH F

3. YA RIS L o T < g ' e
9. PR sieeEs II. ot T = Tt @4
%. TN IFEEE T aCHt STt > ahr &=
it I :

H L | ®
(1 I II III
(2) 1II I IT1
(3) III I II
4) II I I

Select correct pairs,
Column A Column B
a. DBalanced Budget I Government Receipts < Government Expenditure

b.  Surplus Budget II. Government Receipts = Government Expenditure

¢.  Deficit Budget III. Government Receipts > Government Expenditure
Answer Options :
a b c
m I II II
2 1II I IT1
3) II I I1
4) 1II III I

69. HRAT S Ic9 H0 e T TR ?

(1) wvEg @) g

(3) st (4) e v AT
What is the nature of Income Tax in India ?

(1) Proportional (2) Progressive

(3) Regressive (4) None of the above

Foeq] FIFTATS! SR / SPACE FOR ROUGH WORK P.T.O.
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70. W foue fo=mE =

A, HeEaiUd H ) FEEld B MST FOMH T AR,
¥, et W TR e HOH) Tgdt BT,

%, Hoadfda e AFeEEnt g e dishrer TeefiaEe 918 w0 anft ey e
Gt

e S faus SOet oM 2

gatdt 3w

(1) waa A f §

(2) Had & AW H

(3) w3 i+

(4) @

Consider the following statements :

a. The Value Added Tax (VAT) is Multipoint Tax Collection Method.
b.  Non-VAT is Single Point Tax Collection Method.

¢. Implementation of VAT will improve the purchasing capacity and living
standard of the poor people.

Which of the statements given above are correct ?
Answer Options :

(1) Onlyaandb

(2) Onlybandc

(3) Onlyaandc

(4) All of the above

FHoT IS SR / SPACE FOR ROUGH WORK
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71, @ faum e

3. TSgHeA=a1 Hein 280 Jata faw sy wuron el ang.
¥,  TSIge=41 %helR 275 THR U] A= Woar 3gH feht smaw.

F. TvaueT=dl oW 282 TN 59 GIhAAT HIUQE @l Ifsemet g W wgd
e fieft s,

ey FV Fa/ ST ST/aRA 2

gt I

(1) ad N fr &

(2) wF T F

(3) HFF

(4) %o &

Consider the following statements :

a. The Finance Commission is appointed under Article 280 of the Constitution.

b.  Article 275 of the Constitution provides for grants-in 2id to the states in need of
assistance.

¢.  Under Article 282 provides for grants by the Union Government to the State
Governments for any private purpose.

Which of the statement/s given above is/are incorrect ?
Answer Options :

(1) Onlyaandb

(2) Onmnlybandc

(3) Onlyb

(4) Onlyc

FHeEA1 THIFTATSE TR / SPACE FOR ROUGH WORK P.T.C.
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72, wrehe foam fomma =

¥, THaR 2004 7E2, FFie anftn it Faawifors, qﬁ%aﬁwﬁ%wwﬁa
W TAH TaF 100% T FOAERE R warrf et

¥, WHad 2004 WEd, UM SAES WA YN AEUE §AG 100% A @R
Frgfael.

%, HAEE d FGEH SR FEEEE W TEW [TEE 80% HUAEE! War
feeht,

FheY Fwa/dl faumm/A sier sme/aRg ?

mrf-dia#t:

(1) Fod A (2) Hod A AMC |

(3) Fad H U ® (4) e @ 0T *

Consider the following statements :

a. In January 2004, the Government allowed FDI upto 100 percent in Printing
Scientific and Technical Magazines, Periodicals and Journals.

b. In January 2004, the Government raised FDI Limit to 100 percent in
Petroleum Sectors.

c.  80% present FDI permitted for business to business e-commerce.

Which of the statement/s given above is/are correct ?

Answer Options :

(1) Onlya {2) Onlyaandb

(3) Onlyaandc {4) Onlybande
731 ﬁﬁq QE = ?

(1) HATFER q2 + TR ST =

(2) UEEE TR F + TR 3T

(3) WAGSIIFH qC + WTHIH 7l

(4) NEYTHE T + FHH! TR F g T

Fiscal Deficit =7

(1) Budget Deficit + Government’s Market Borrowings

(2) Government’s Market Borrowings + Government’s Liabilities

(3) Budget Deficit + Government’s Liabilities

(4) Budget Deficit + Government’s Market Borrowings and Liabilities

Foed] SETATA! ST / SPACE FOR ROUGH WORK
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74. @S fum fREme o
. USATAT USIohiNE Haea-Td g s 3% gfear wgears iRt IR wed.
9. Ul 991 9 YN 7ed SR AR w1 Ees o6 3% i #.
%. Toet 9% e sfem auiqy 9r 3@ usy fag wfvarh a9 gas ddfter qeeEma smwEiia
w

qliereht wo U R angd ?

gt 3=
(1) & 37 370 o (2) eEd @ efor &
(3) HEd I 30 F 4) af=ad

Consider the following statements :

a. The Reserve Bank of India plays a vital role in the Fiscal Management of the
States.

b.  The Important function of RBI is to help the States to raise market loans.

¢. The RBI has been organizing the state finance secretaries forum four times a
year at its headquarters in Mumbai.

Which of the statements given above are correct ?

Answer Options :

(1) Onlyaandb (2) Onlybande
(3) Onlyaandec (4) All of the above

75.  HEGE! L ICATHE TEAU SHET WUV B g7 ?

#H.,  AYIH B . WIE &

F. T oA 3. GO I
qaidt I ;

(1) e =1 anfor 1 (2) 4a 3 N0 &
(3) w9 AT E (4) wF F AN
Which of the following are not included in Revenue Tax Income ?
a. Indirect Tax b. Direct Tax

¢. Interest on Investment d. Punitive Income
Answer Options :

(1) Onlyaandb (2) Onlyaandec

(3) Onlybandd (4) Onlycandd

FFoegT SFTHIS! SR / SPACE FOR ROUGH WORK P.T.O.
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76.  YEid Gl A9 ‘ran’ @ fawehaT &
;. ‘quata pol ran’® ‘I can rest here’ ¥ gfeam 3R,
%. ‘pol ran sak no’ 2 ‘I can sit there’ = Ffaeq a7z,
Flia gfwa=ar senia A waig Fae
ot IW :
(1) TouehaTmndl waa mfedt 1 gl 3R,
(2) Toasa st waa miEd « gaht a8,
(3) Tawehamndt mfedt =1 anifor § qEft 37e.
(4) fowshamrdt mfeedt o1 snfor % gl Jm&.

Decode ‘ran’ using the following data :

a. ‘I canrest here’ is represented as ‘qua ta pol ran’.

b. ‘I can sit there’ is represented as ‘pol ran sak no’.

Select the appropriate correct option with respect to above process.
Answer Options :

(1) Information a alone is sufficient for decoding.

(2) Information b alone is sufficient for decoding.

(3) Information a and b is necessary for decoding.

(4) Information a and b is not sufficient for decoding.

77. @ SREEQ i AU SRR B RS THHEE 3T Ot 39 angd, ;i quadt s
TECHT @E ARG q99 1 1 3 1 @7 el woed] g8 e HETR agd fYam
TEAUT] A9 HERE ATRd. R IR 1 S TEON ST R geeweft 45 s A #d
FEA T ARH 3 I WrEte grom= e o st ava somn w@it feern
(1) SIRET 1 90 JE0T=T AN FRRomen &9,

(2) IRET 1 S YSWAT AT feRTomer T,

(3) WAWET 1 S 9= Tt foRomsht 45 379 M.

(4) @ 1 I gEOT=T 39T feRomsft 60 srwmEn F. _

Reflecting surfaces of three plane mirrors having square shape and identical sizes
placed perpendicular to each other, in such a way that mirror 1 and 3 are having
reflecting surfaces parallel to each other also exactly face each other. If a ray of light
is falling on mirror 1 at an angle 45 degrees then select the option that appropriately
describes direction of the ray coming out after reflection from mirror 3.

(1) Perpendicular to the incidental ray that falls on the mirror 1.

(2) Parallel to the incidental ray that falls on the mirror 1.

(3) 45 degrees angle to the incidental ray that falls on the mirror 1.

(4) 60 degree angle to the incidental ray that falls on the mirror 1.
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78. femen yfwamerdia a% wesigds ar@mEr nfi waid Ja@d ERET qb AR T

& gferarg faaer,

R Tt Sevnaret W @ yerd TR el W g S g gie. W S gemmen

i Wt Ay gy 9. A HY S @ gy Fa0 f 96 B wmg @ e

AEHIE AT,

(1) WA FA I 9@ FW PA @ A e W fedm. quft | A o shaemaa
I TreEe @t e, A AN ARG A Ween derawar e i o,
TEU[ S fuarmaa red! § e wl .

(2) S arEr A et @t fiew anf gEg gew oeg oA, quft SR @ A @ ®
At I W GeE HE WHUR A A WA W W Are S A W Al e
FEAeN YeAtHiad A W IAENd W AR, HS Ht a8 T W IS R,

(3) W[ fEawh #t ot fiFavar doew @ f wwl 9% v, 1 S B R gt @
TS AR TG d R W oaed. A1 gt weard! @ wmaad) 39 FAEn e
o mig W me =hem e 32 Taaen S ® 7 wWeEY wa an.
e 1t sTTRasIdTe G =R foaw firepavay 9EA.

(4) A @ & o G el | A TS O, Wg WA FE nf smsebm
Tt A W A SHIE ASVEE TS AL W a9 TRewTsl A Fress
Y, TeuE M @ e anfir STEEAE @R .

Study carefully reasoning of the argument given and select one from the options
arguments that uses closely parallel reasoning.

If T cook some special dish for dinner, my family members will be pleased. If I go for
the beach stroll I will be relaxed and pleasant. Today I prefer a pleasant me to
pleasant family members so I will go for the beach stroll.

(1) IfIdo overtime today I will earn more money. However if I spend time with my
family I will get relaxed. I need to get relaxed today than I need more money.
Therefore today I will go home to be with my family.

(2) IfI go out now I will enjoy cool and pleasant breeze. However, if I go out, I will
not clean my house, and if I do not clean my house I will have to live with dusty
and unhealthy environment to which I am allergic. Therefore I had better not
go out.

(3) [IfI give tuitions every day at home I will be able to buy a smartphone. But if I
read books in the evening it will add to my knowledge and development. Right
now it is more important for me to earn my own money, but I will regret it if I
did not invest time for personal development. Therefore I will give tuitions only
on four days in a week,

(4) I will eat that cake and ice cream to feel elated. But if I do not eat that cake
and ice cream [ don’t need to burn calories. I don’t care about gaining weight
anymore. So I am going to eat that cake and ice cream.
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79. TH WU SEiG FEwd WG gAr g Afed wedret Secd Ww A A FHE ERA
uftfeydta a9 aufeda aualt @ <9 "l v =g Iider S a0, S HTdAT, SRS
T Wi wEE, Tl AfEen SO S U e Siee et gege, o
YYETd o ThY T99Td WG el 3T W e Ty ong e gl e e
(1 8 (2) 5 (3) 4 4) 3
In a certain species of animal newborn female attains adulthood when it is two
months old and after this on an average gives birth to one new female infant after
every two months for five years in favourable conditions. If there is only one infant
female in the group as its mother, only adult female in the group, died accidently
after completing one month’s weaning period, select total number of females in the
group immediately after completion eight months in favourable condition.

1) 8 2) 5 3) 4 4y 3

80. FeTHST FE AT G TH H&A qOR WA AT HET Ui A Teedraie e
UEAHT T GErE THT A 39 AT, egd S @Al a4R Fol oy wefterRi afur
A ASEITAONT ST Saaeidl (9o A1eg. W WEa T8 Rresierr i s
Tyl fagme sHecaHE @fes qu Husl e sevarEn e %l AR, W fvesiei
wArbfia ez s sadie @ i Sieen g b wEe 7 € I8 AR,
glie gitrarerdia Ife exfavm wafa 2 faum fasr.

(1) wftws fFger=n FeiiEdams e F=ar=e Jeham.

(2) oA sawTer @9 9EE A IS SN S e

(3) foomer = = AeniEd ffrm som g ey 39 9.
(4) Tl Solmar @ s9aam T AR @Eie AU %6 T,

Some recent films have been very expensive to make, but have not been the big
box-office hits that would have justified the expense. Also there are films made very
cheaply that have been received with both huge critical and popular acclaim. Indeed,
some directors who have made successful low-budget films have gone on the make
unsuccessful but expensive films. It is obvious then that if directors want to make
popular films, they should stick to low budgets.

Select the best statement of the flaw from following with respect to above argument.
(1) Critics are often wrong in their predictions about the popularity of films.

(2) The cost of making a film is normally greater than its original budget.

(3) The cost of a film need not be the factor that determines its popularity.

(4) The popularity of a film would justify a high level of expense in making it.

TRl HTHIS! SN { SPACE FOR ROUGH WORK
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8l. W wi@ iy =h ane Ffid wa Seea @ 2 a3 e @ e faumid
Hi [qU™ Tead=n g & T ?
(1) Tl =a<h aezar gdam wa forepam.
(2) e =R, w1 4 Ferara, @ Fnfr sgam.
(3) & =k, s i forepam, = fnds agam.
(4) T wueh St A Resa ff Fofg T=w.

If the statement, ‘none but some brave win the race’ is false then which of the
following statements can ¢laim to be true ?

(1) All but brave persons win the race.

(2) Some persons who win the race are brave,

(3) Some persons who win the race are not brave.

(4) No person who wins the race is brave.

82,  wfaw, 315w, UEd, |iew o afte Awed gfawr IR gEe huimER 3 T HiEw g wata
31 =AfFRIET 39 AR, AT FAERET AR, (IN) TR A I w3 Feaw gerwnf
I IS ?

N, Fa AT HA N FourE IS g dH HABH Higaed R/ AR,

9. TEA & AHuE 39 Ay Wy YAvE geH IR,

%, df datd g A,

YT I vt AifEdt qiuft oy o whm waig fre

it 398 ;

(1) ¥«

(2) SFa F I E

(8) had & fohar o1 anfor & <t g

(4) ed § AT F

Among, Pravin, Ajay, Rahul, Scham and Tanish, Pravin is second tallest and Soham

is immediate taller than the shortest. Who among them is in the middle when they

stand in the order of their height ?

a. Ajay ranks third in height above Soham when all are standing in the order of
height.

b. Ralgul is taller than Soham but shorter then Pravin.

¢. Tanish is not the shortest.

Select option that is sufficient to answer question.

Answer Options:

(1) Onlyb

(2) Onlyaandb :

(3) Either b only or a and ¢ both together

(4) Onlybandc
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83. A, B,C,Dafi E % U @eTg AT Wes Wesard. o g, fohthe, Fagdl onfir @@l an
W% Wadn. A 99 U T3l 19 g6 @aa T, B it E i @ @@aa 997 weg @@
Tdd. C anfir D wag Wadrd. C oF U @ad! 9 ik 9 G-@ Wad @), D 29 Q%
wasd! 7u G-l Wesd ). C 3t D g9 Ws A1l Wesd T,

A snf1 B @ @A A0H W2 HI0d 7

(1) =g, gl

(@) ke, wadl

(3) Ehl, @@

(4) Te¥e, @@l

A, B, C, D and E are five players playing different games. They play 4 games —
hockey, cricket, kabaddi, and Kho-Kho. A plays three games but not hockey. B and E
play three games but not Kabaddi. C and D play Kabaddi. C plays two games but not

cricket and Kho-Kho. D plays two games but not Kho-Kho. C and D do not play same
pair of games.

Which are the common games played by A and B ?
(1) Kabaddi, Hockey
(2) Cricket, Kabaddi
(3) Hockey, Kho-Kho
(4) Cricket, Kho-Kho

84. Tiwdla v wHch e 9N fim U9 &g mga. A0 12 1A 64 9% 1@ s, TuE 21
I wd =g g wmed, TF 20 TTEA WA g A Aed A INF 19 I T <43 @
armga. ferefia fordt <ig amea 2

1) 26 (2 24
(3) 38 4) 72
In a bag there are single colour balls with four different colours only. Excluding
exactly 12 all balls are blue, excluding exactly 21 balls all are yellow, excluding
exactly 20 balls all are red, and excluding exactly 19 balls all are green. How many

balls are there in this bag ?
(1) 26 (2) 24
3 38 4y 172
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85. Hured wevfidie feameatan el Tl 62 SR, I=ER M W SO 20% Frementsh
qualt 89 g Fifr T W wwmn 25% faeredidht Tl 36 AR, IreEm Avedn
TFpaTOe Tt orEh T gdem vaty fesr

(1) 3¥E= 80
(2) 64
(3 178

(4) 81

An average of group of students in achievement test is 62. Average of the 20%
students scoring highest score is 82 and that of the 25% students scoring lowest is
36. Select the option that indicates average of remaining middle percentage of
students. | '

| (1) Approximately 80
(2) 64
(3) 78
(4) 81

86. W q¥¥ TR, =1 GO HIFH HATE FEIT Hed. I ...
(1) @
(2) W@ ST
(3) T AT
4) WS FEa
I am a man. Dattu’s son is my son’s father. Dattu is...
(1) Myself
(2) My grandfather
(3) My brother
(4) My father
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87. WEl A& TE iedid I+t heft AR, Iefeun ShTen e aTed fas,
o IS IFHeA AR FTEA SF TTE.
o  TIX 913 T I THHHAT AR ATEIA.
o DI &1 T M v I A,
o @ e AN 1N AT AR,
o 3T R IR 23 ATEA TR
it I
(1) AR «H 2) B = (8) wé (4) <t

Six vehicles are parked in a single row as described below. Select the vehicle that is
at extreme right.

o The vehicle on the extreme right is not the dumper.

. The motor bike and the dumper are not parked next to each other.

. The minivan and the car are parked next to each other.

o Lorry is the 18! vehicle from the left.

e  Tempois the 2" vehicle from the right.

Answer Options :

(1) Motor bike (2) Minivan (3) Car (4) Lorry

88. et R srawta A At fae.
faem 1(S)) - (x x %) = (y x y), T x F7= y FAHT 3.
faum 2(82)—ﬁt(xxxxx)=(yxyxy).mxgﬂ$relﬁtﬁaﬁm y.
(1) 8,-8F; 5, — 3| (2) §,-3FH; S, -dA
(8) 8,9 8,3 s (4) 8,9 S, 34 e
Select the correct option with respect to following statements.
Statement 1(S;) - If (x x x) = (y x y), then x is always equal to y.
Statement 2 (S,) - If (x x x x x) = (y x y x y), then x may be always equal toy.
(1) 8 —true; S, - false (2) 8, -false; S, - true

(8) Both S; and S, are false (4) Both 5, and S, are true
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89. i W Prem = 2.5 Refva W onfr 12 R SRW GEeR. wh R B
4 Topfiyareft SremaTe S Wnfr ot 15 fufiR oraew digreeht. foreh et ey fRdt feft
IR LR REES
(1 35
2) 3
3) 25
4) 2
Nita walks from school to her house at 25 km/hr and arrives 12 minutes late. One
day she decided to walk at 4 km/hr and arrived 15 minutes earlier. Select the
number indicating how far her school is from house in km,
(1) 35
(2) 3
3) 25
4) 2
90. ¥l 7 wthd yds faamedfl waa wr wer g 3. e 30 Feemeff e wdww wagn

HFE U, ek 31 fereneff aegn WO pemieran e Hard onf Yk GeweE g T
HuTTEahe faeneff gy wESv W@ A UAE. A6 37 WaTg, g daeu g
A Hara. wrd) faend 39 v 7 FAa IR ForETd @B ] Ua AL g @R

(1) W@ g T o freneaten P g,
(2) peEeraT WS 7w faeneatea T qeHe T,
(3) whegEl HEE T o feneatem o demw .
(4) T gE ffvaa s amf qEt .

Every student of class 7 enjoys only one sport. Excluding exactly 30 students all
enjoy kabaddi, excluding exactly 31 students all enjoy football, excluding exactly
same number of students who don’t enjoy football all enjoy kho-kho and exactly
excluding 37 students all enjoy hockey. No student enjoys any other game that is not
mentioned here. Select the most appropriate option that indicates number of
students who enjoy hockey.

{1) Half the number who don’t enjoy kho-kho.
{2) One-fifth of number who don’t enjoy football.
{3) One-ifth of the number who don’t enjoy kabaddi.

{4) Data in insufficient for deciding the exact number.
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91.

44 A
areftere o freareh w @ e TS i e e i 2
(1) s (2) FFAS
(3) wefRch (4) SER
Which of the following districts has its least boundary with the State of Telangana ?

(1) Nanded (2) Yeotmal
(3) Gadchiroli (4) Chandrapur

wreAterteh! hivra/miord! foam/faum stew 778t/ gt ?

A, O M TEHER foreRna w8 HRd 99 Tedn.

. qremft o mEE 39 Iu-Swrmiadia Tewia T e,

F.  IA9E I HH T WS TWOTER TEesand.

Tt 3 ;

(1) wd faum o (2) % faum %

(3) e faum = anfor = (4) wEq fuH & A0 H
Which of the following statement/s is/are not correct ?

a.  Dry thorny forests are found in Pune and Ahmednagar districts.
b.  Subtropical evergreen forests are found at Panchgani and Matheran.
c.  Anjan trees are found in Konkan on large scale.

Answer Options :

(1) Only statement a (2) Only statement ¢
(3) Onlystatementcandb (4) Only statementb and a

93.

FOAT 2011 TR, et o fieame dpee 20 A S 18 2
(1) oeoft (2) IR
(3) IFauTS (4) aut

As per the Census 2011, which of the following district has a population more than
20 lac ?

(1) Parbhani (2) Akola
(3) Yeotmal (4) Wardha
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94.  FRien e sféra sivar ez ang ?

(1) getemr (2) SUEd
(3) =yl (4) arm
Which district is located to the South of Akola district ?
(1) Buldhana (2) Amravati
(3) Wardha (4) Washim

95. @il Rrat == 3= W 39t FHA e,

J. WS ¥, HEhI
F. "ot . Towa
gt I ;

(1) 3,9,%, % (2) &,9, A, 3 9,%,3,3 4 B, 31,9

Arrange the following peaks in descending order as per their height.

a. Pratapgad b. Trimbakeshwar

c. Salher d. Sirsala

Answer Options :

(1) a,b,c,d (2) ¢b,ad 3) b,c,a,d (4) d,ab,c

96. @refia fomml get=arean g¥A Jatem FAM @

H., RS g, A
F.  offeamT T g
it 39y

1) ,9, &%, 8 (2) A, %, 9, ¢ 3) #,49 H,T 4) 9,31, 8, &

Arrange the following places in descending order regarding rainfall.

a. Amravati b. Nagpur

¢. Alibag d. Solapur

Answer Options ;

(1) a,b,¢,d (2) a,c, b d (3) ¢ b,a,d (4) b,a,d, ¢
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5. d
T AR
<, Sl
ES
Tt IW
A q
1y Iv 11
2 1 IT
(3 I v
(4) 11 I
Match the following :
District
a. Solapur
b. Latur
c. Jalna
d. Beed
Answer Options:
a b
(1 IV III
2 1 II
(3) III v
(4) 1II I

II
III
II

c
II
III
I
v

46

aregehl
I. Jaus
II. ¥a

III. T eraas

IV. AaiRE

k-

I

v

I

III

Taluka

L. Georai
II. Mantha
III. Shirur Anantpal
IV. Malshiras

d

I

v

I

I11
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98. WITEIY T FETe Fi=AT MY e 3.

(1)
(2)
(3)
(4)

(1
(2)
@3)
(4)

S ICEC]
JTaAl
Fd
T

Ghat is in between Kolhapur and Kudal.
Ambenali '
Amboli

Hanumante

Amba -

Cc12

99. UNEqg, ¥, et 2 vyl Reeniie args oa.

(1)
(2)
(3)
4)

Manvat, Selu, Purna and are the talukas in Parbhani district.

(1)
(2)
(3)
(4)

B
CLEG)
FUT
It

Sonpeth
Basmat
Kandhar

Unmri

100. 2011 =01 VA WA, Fad S9N Rrea IR wraedt fadt o 2

1
(2)
(3)
(4)

100%
95%
90%
85%

What is urbanisation level of Mumbai suburban district as per the 2011 Census ?

(1)
(2)
(3)
(4)

100%
95%
N%
85%
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Il — (go1aeg2...)

(8) TyfwEmed fafee hetew fafire arfa = Fm (16 96) F9. TEgfhsafiiEa ITEEFRR 9 TR
FIEET F FH Foatd § FE FOAA AW S AR, W A6 TG T FHER INGATR A
I Feew “whEmed for=n o ey weeaas Afufem-g2” aidia adaer s
o TS o 2l A FUTH Uk TESET BEETEAT AT/ R T TF F9R WA et e
I R

(9) T wAuRad A fafta el 3@ dueaet IgaATTen @ Tt TEd atE T
USA TUEH TEET 2. AT Thwmegmatdt Soagd! SHEaWe suedr Iweafiehen -1
ARYETERS T (AT o w0 snavEE Hre.

H. . 201.

H. . 201.

oToiT UV
Tefit =TT Aee FUAEd] S gera: Taw i ?
(1) T I (@) 3varag fermmamn
(@) Ton THEET UG (4) TITeEHST Tige!
o T A I (3) T T T 3@ SR, SR 41 YN I C(3) and.
TRad GIEAETHD T . 201 THHE IRsEEw () B Ige P I S A
@l awEs AR,

©® @ @ ©

H UgdA Rgd TIRahdel ToE W A - B R S e
IFAGFAIA & o TEHAEEE Geia Id@ qUiTi DR A rEad]. EReRe
wE T VTR FTeuA aToas, e a1 wd 9 aaE .
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